2018/7/18 E#

mAE® JFAU-18 ¥y H—VU—7 2018 E S1V—-7 HIMIAER BAE®#U-189yH—)—J201815ER)—J #HAER
Rl T4 H—L Fozd h—Ls T4 HR—Ly Tz
il A8 [ & 25 BER ESE = I 25 BE R X = & AR B 25 SR BSE =i AR | & 25 R KB =i
megesgy 1000 EEPE 3 - 1 aF s1 [— 10:00 A 0 =1 aF s1 g 9:30 aF - E¥YE | S 9:30 FEELE] = SHFIR Si
= 12200 FARXE 3 — 0  AKE— |[S2B ! 12:00 HE 1 - 2 ARE S1 11:30 T SLEF - 2¥B S2B BERE 11:30 TR - BAEES S1
Fat e 9:30 BRE 2 —.1. EFMERE | S meE 10:00 TR 3 — 2 EOBE S1 BETEA 9:30 EEEN - BiERA | S] 13:30 | AAERAB - BATE S2A
11:30| AHREAEB 5 — 0  KAHHE | S2A 12:00 RERE 1 — 1 b Eit el S1 11:30 | BUEERB — SHMEB | S2A 9/16 A S 9:30 BARE = RE S1
BT K 1000 | FREEES 1 — 0 FEEZEA | Si BTk 10:00 EEEE 1 — 2 AE® S1 [— 9:30 THFIER = AR St 11:30 BFEFE - By E S2B
1200 | IEEFEAB 1 — 1 MAFE | S2A 5/26 | 1200 | EEZESB 1 — 1 & E%B% S2A 11:30 K - AEE St BETH 13:00 LA F = BETR $2B
1 [— 10:00 SRR 2 — 0 HFER S1 g% 9:30 2¥B 0 — 1 ;AMLvyXB| S2B 8/21 % s 9:30 L) = EHHHE | S2A 15:00 BESEA — BHREB S2A
4/8 | B 1200 ERE¥RE 6 — 1 HEB [ s2B] 6 11:30 AER 2 — 1 BEX S2A 10 14:30 b Lkl - ARE St | 15 s 9:30 EF = TR St
1000 | SEFIEB 0 — 2 mEZEAB| S2A 10:00 JEFIE 0 — 1 JETIEB S2A F e 9:30 AER = BERAEB | S2A = 11:30 EHHE - EEFEAB S2A
BAZE4L | 12:00 A=EE 0 — 4 HiE S1 EyifyD 12:00 HmB 1 — 0 AE— S2B = 11:30 HEB — EEZER | S28 EqigHT 9:30 TAFRB — AT S2A
14:00 | j#EFILYXB 3 — 0 sk | S2B 14:00 HBAEE 1_— 0 BEZEAB | S2A BETR 13:00 BEZE = BEFER | S2B 17 | B ’ 11:30  [FHfLvXB - 2¥B S2B
aT 9:30 %8B 3.T..2. TR | S2B H e 9:30 BEREB 1 — 1  BESA | S2A 15:00 AT - EEEAB| S2A TREREA 230 BEX - ABR S2A
11:30 | FHEME 2 — 1 HHMA | S2A s507| B 11:30 BEHEXE 0 — 1 EEPkR | s2B TREREA |30 BEX = BEREEAR | S2A ) 11:30 | EEFER - i s28
wEEg |-1300 BEFER 0 — 0 FEZE | S2B BETH 13:00 miEf 2 — 1 BEFERK | S2B 15:00 By R — EFLvXB| S2B BETEA 9:30 AE® = EEZER S1
15:00 | BEFEREAR 0 — 1 ER [ S2A 15:00 I ) ZFE | S2B 95308 EE T 11:30 AE— — AR XE | S2B 11:30 AE— — HEB S2B
=3 9:30 aF 0. —..1 J EfMFE | S1 9:30 EHEB 1 o — 1. EBA=R | S2A 9:30 | EEZEAB - JFNEB | S2A 9:30 BREEXR = EERAB| S2A
= 11:30 ETB 4 — 1 AE— |s2B HRE%E4 [ 11:30 HFIR 3 — 1 gF S1 BEIERKX| 11:30 | mEzEa - = S1 BEIHEKX| 11:30 AE— - iRz L $2B
[e— 10:00 SHANRS 1T — 1 FERA S1 14:00 EMER 1 — 1 HE S1 13:30 | AIERAB - BEEB | S2A 13:30 | AIERAB — AER S2A
1200 | SEANFE 3 — 1 KEHE |S2A J— 9:30 EERA 2 — 1 BRE s1 9:30 BHRE = SR St 9/22 |t BHRE 9:30 BRAB - BEX S2A
1000 FEEEA 4 — 1 WEPRE | S1 " 1130 | EEFEAB 4 — 0  [EEA | S2A BERE 11:30 | BIES = HArE | S2A - 11:30 | sastxE - HmEB S2B
BIK 1200 | HAEE 2 — 0 HEF | S2A [— 9:30 SEANRE 3 — 1 AEE S1 825 | + 13:30 [ wisz@#0 - MPLyE | S2B s 9:30 FEFE = E¥B S2B
1400 Byl 1 — 2 W | S2B | 7/7 * ! 11:30 | EE#BR 1 — 1 SHEMLYXB| S2B 9:30 | = EEREs | st = 11:30 | EHEE — SEFIEB S2A
2| 5/3 | K 10:00 | HFIR 2. =1 AEm.|.S1 B 9:30 HYSE 0 — 5 REEA s1 " EYPE 11:30 AEE - TR stU] 903 [B] sxEm [1300 BETR - RUsE S2B
HRAEA | 1200 RE 1..=..0 piERs | si = 11:30 2 — 1 PERSB | S2A 13:30 BER - EHEE | S2A - 15:00 SIS — AP S2A
1400 | EREB 0 — 2 EEZEAB| S2A - 9:30 1 — 0 Z=2E | 52B RL 16:00 |@fILyXB = K@B | s2B 9/24 RL 1400 [@fLvXB — S2B
930 [ BEAB 2 — 2 BEFAB| S2A = 11:30 0 — 4 AN S2A BT 9:30 AER - AFNFE S2A =5 9:30 EF = RN Si
BRE 11:30 | BE=2E 1 — 0 EEFE | S2B P 9:30 WIiEM 2 — 0 AE— S2B ! 11:30 — FEPE | s28 = 11:30 B’ — Pkt St
13:30 HREB 1 — 3 EMLyXB| S2B ) %11:30]| BEZE 1 — 1 FEREB | S2A 826 | | a: 9:30 TR - aF Si 10/7 | B megerpm 10:00 | FRiERA = ELRE si
wEEg |1300 BERXE 0 — 1 BEF [ S2B s | 8| mEEm 13:00 WUyE 0 — 4 BEFER [ S2B 11:30 AE— - EFB S2B 12:00 A= - FEE St
15:00 B 2 — 3 PBEEXK | S2A 15:00 KEB 0 — 0 FEHRX®E | s2B 98268 | K| BEFH 19:00 BWEFR - AR XE | S2B BRE 9:30 s — EEZES S1
aT 9:30 AER 0 — 7 =l S1 i 9:30 ST 1 — 2 BRAB S2A 9:30 ILER = REB S2B 9/30 | @ SEFIR 9:30 SR = BIERS S1
11:30 2 — 3 EHAHE | S2A el + 11:30 A=® 0 — 2 HEMFR S1 Enif D 11:30 SHAER = BIERS | Si DEPE 9:30 HHSE - HKE St
9:30 1 — 2 EZERAB| S2A P 9:30 WICER 1 — 3 EE#PR | s2B 13:30 HE — EEZES | st 10:00 AER = EEZEAB|  S2A
BRE 11:30 1 — 2 TIMHA | S2B i 11:30 HAMEB 2 — 1 BEEAR | s2A [— 9:30 AR = EMERE | St BEIEKX 12:00 AE— = BlrE S2B
13:30 0 — 0 BEB¥B |[s2B mia 9:30 BERE 1 — 1 AR S1 ! 11:30 ERREBE — BEFR | S2B 10/6 | £ 1400 | ERAB — HRME S2A
mogmg |.1000 2 —.1.  BERA | s1 11:30 | BR%PE 1 — 1 HEB S2B s 9:30 AT - BREEAR | S2A aT 9:30 2¥B = AR S2B
3 12:00 1 — 1 &AE— |s2B J— 930 | FERAB 6 — 0 AEBR S2A 11:30 BEX — BIEEAB | S2A 11:30 HREB — FEFE S2B
5/6 | B — 10:00 0 — 0 AR s1.] &5 = 11:30 BRERE 1 — 0 SEFIE S1 12 8/29 | K BHRE 9:30 ARE = SPE [ st |17 TRERA 13:00 Bam - BEX S2A
’ 1200 | SHMEB 2 — 0 MAA | S2A B 9:30 KE 3 —.1  EgYE s1 11:30 | AARXE - LvXB| S2B 10/7 | B g 15:00 | ERRERE - IR s2B
wEEg |1300 BEER 2 — 1 EEFE | S2B 11:30 BbyE 2 — 0 AE— S2B BETEA 9:30 | FEFEAB — BREB | S2A RS 11:30 BAREB — ETE S2A
15:00 | BEFES 0 — 1 AM#AE | S2A a3 9:30 ERg 2 — 0 IFEESR S1 11:30 RE— - FEFE | s2B we | 8| mEEm 13:00 BEFR = SEMLYXB|  S2B
RL(EX#KZ) [ 1700 [ BALYXB 1 — 2 FAHXE [ s2B 11:30 BHXE 1 — 5 2B S2B =3 9:30 2T = AEE St 1500 | EBREZEX — HAIEB S2A
10:00( EFERA 3 - 1 i S1 TEX 13:00 BER 1..-..2 HMAFE S2A - 11:30 S¥B - v | S2B 11/23 | 2 |m=rsv7smac)... 1000 AR = ARE S1
ERX 1200 | pRAEREA 3 — 2 HME S1 7/16 | A 15:00 EHEE 0 — 0 mEZEAB | S2A BALST(E e | 230 BAAE = SHAIEB | S2A 12:00 SHIFRR — A= St
14:.00 | BEERERAB 5 — 0  BEXR [ S2A RL(K#HZ) | 1700 | @fILyXB 2 — 1 BEERK | S2B 11:30 A=EEY - AER S2A 11/24 [+ BEIEX 14:00 EEZES — SF S1
BTk 10:00 BEX 1 — 1 TFEZRAB| S2A 9:30 fifi=) = g S1 9:30 EFNFRE = EERS | s1 9/30 | B SEFIE 11:30 REB — S¥B S2B
512 | + 12:00 AE— 0 — 2 HEE¥RkE | s2B BRE 11:30 BARAB — 2R oyic] S2A BEIXK 11:30 | FEENB = BEX S2A BEYE 10:00 BEX - Ptk S2A
Fat e 1000 AERAB 1 — 0 SHFEB | S2A 13:30 FE2E — AHRXE | s2B 13:30 |;#fILyXB — FEPE | S28 P— 10:00 AER = TEFRB S2A
12:00 HEB 2 — 1 ¥lyh | S2B 9:30 EERN = RIS S1 9/1 * s 9:30 BiEES = = St . 1200 | wazi@#n - EFLYyXB|  S2B
aT 9:30 2F 0.—=.0 FHfERA | S1 721 £ #HIX 11:30 | EEFEZRAB = BIERAB | S2A = 11:30 | HHER — AT | S2A 11/24 | £ FHRE 10:00 HATH = AXGB S2A
11:30 THFIR 0 — 0 ®E S1 13:30 By - EfRFRE | S2B Era 9:30 TEFERB — BEEB [ s2A = 1200 | FAE X - FEFE S2B
4 Fat e 9:30 ARE 7 — 0 KA=@ S1 9:30 K - AR S1 11:30 A=H — BEEAR | S2A BETEA 10:00 | FRiERAB — EEZEAB S2A
11:30 | FAHXE 1 — 2 whirsE# | s2B] 9 SRR 11:30 JHFIRB — AER S2A 13 9:30 AEE — ARA st | 18 12:00 R — By S2B
BTk 10:00 | TEERA 1 — 0 EFFEE | S1 13:30 | j@FLvyXB — ha#Ef | S2B BERE 11:30 fiz;2) = PEE S St 15 | 8| mEEm 13:00 BEFERK = AE— S2B
5/13 | B 12:00 AT 5 — 1 &ERAE | S2A =T 9:30 S¥B — B S2B 13:30 Hlr — HEB S2B 15:00 HEHHHE — BESA S2A
10:00 | EFOR 2..=.8 AR | S1 = 11:30 T - BEX S2A 0/2 a 9:30 BYYE - AN st &% 10:00 SF — BRE S1
SRR 1200 | EFIF 1.2 BERAB| S2A vele| sEmg |13 AE— = BEEMH | .S2B EERE 11:30 | BIERAB = A | S2A BMETEX | 10:00 AR - EERE S1
1400 | FEZE 3 — 2 #EMLYXB| S2B - 15:00 BERES - HZRAME | S2A 13:30 EFREBE — ARE— S2B 12/2 | B SHANRS 10:00 FEIE - K St
wEgmg |30 BMEFR 1 - 2  B¥B | S2B megem |.1130 AEA - BiERE S1 ax 9:30 B¥B = BEFEM | S2B BARE 10:00 | BREZRS - AEFE St
15:00 | FEFEE 1 — 0 KEHFE |S2A 9:30 ol | — SRR S1 11:30_ [ wisz@zn - mEXE | s28 LIPE 10:00 | SHAIZER = DIPE Si
9:30 BRA 0 —. 0 mERa | s1 9:30 EEES = A St —
BmHE 1130 | AHRAB 4 — 2 ZHHEE | S2A X7/7 () OBFERV s BRABOHESHBRAHNERICHEVEL =, BEIEXKR [ 1130 | EEZEAB — PR S2A —
519 | + 13:30 | EBFES 2 — 1 BERERAB| S2A 13:30 AE— — SEFILYXB| S2B S —
10:00 BEX 4 — 0 SHMEB | S2A o/8 + 9:30 SEFNER = mamEE | st |, —
E9igHT | 12:00 b i) 2 — 0 FFEZRAB| S2A BR24G 11:30 EFEF R o 2B s28 | g —
14:00 | ;EFILYXB 7 — 0 AE— | S2B 13:30 [ 8] - Ly | S2B I —
5 g 9:30 2F 3 — 0 ®E S1 Tt 9:30 BiEES = BRA st | =
11:30 E¥B 2 =1 EEFk | s2B 14 - 11:30 | AREB — -
10:00 SEFIE 1 — 1 TFEmA | 81 m g 9:30 AEm = =
5720 | @ TR 1200 [ CERIFEE 1 — 1 HHMR S1 11:30 [ vhazimzn — -
1400 | fRE®E 0 — 4 ThiEM | S2B Tt 9:30 TEFIERB —
megesgy 1000 BEPE 5 — 0 KE@E | SI 9/9 =] 11:30 o) -
= 1200 ¥iyE 1 — 3 WBEXE | s2B BELR 13:00 REB —
BEFR [1300] BEFHK 7 — 1 HKEB [ S2B 15:00 BATE —
BEIXEX] 1600 | BERSB —




